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REIT Financial Modeling 
– Certification Quiz Questions 

Module 4 – 3-Hour REIT M&A and Merger Model Case Study (Digital Realty / 
DuPont Fabros) 

 

1. You are working on a merger model for Digital Realty’s $5.8 billion acquisition of DuPont 

Fabros Technology in the data center REIT space. You are explaining the key points of your 

model to a co-worker – how would you summarize the differences between REIT M&A 

deals and M&A deals involving “normal companies” (e.g., consumer/retail, technology, 

healthcare, industrials, etc.)? 

a. Most REIT M&A deals are 100% Stock, or at least majority Stock. 

 

b. The Purchase Price Allocation process is different, at least under U.S. GAAP, because 

you eliminate the Seller’s Accumulated Depreciation and create new Intangible 

Assets to represent tenant and lease values. 

 

c. Deals are often done because of synergies, and cost savings can be significant – but 

Buyers also incur restructuring costs when implementing these cost savings. 

 

d. The treatment of the Seller’s Debt (and other financing sources) can make or break a 

deal because if it is not assumable, the Buyer typically has to refinance it with a 

higher-cost bridge loan. 

 

e. The Contribution Analysis and Value Creation Analysis are useful and highly relevant 

in REIT M&A deals, but they are not useful in “normal company” M&A deals. 

 

f. All of the above. 

 

g. Statements A, B, and D are correct. 

 

h. Statements B, D, and E are correct. 

 

i. Statements A, B, D, and E are correct. 
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j. Statements A, B, and C are correct. 

 

2. You’re reviewing the Sources & Uses schedule for this same deal, as shown below: 

 

Which part of these assumptions should make you SKEPTICAL of this deal’s chances for 

success? 

a. It appears that the Buyer does not have enough Cash on-hand to pay for the 

transaction fees, which is never a good sign. 

 

b. The Seller’s Debt and Preferred Stock are both refinanced in the deal, even though it 

would be cheaper and easier to assume them instead. 

 

c. Common Stock is used to fund nearly 100% of the acquisition costs, but it seems like 

the Buyer’s Cost of Debt could easily be lower than its Cost of Equity. 

 

d. The Seller’s Debt and Preferred Stock are refinanced at *lower rates* rather than 

the typical *higher figures* for bridge loans. 

 

e. All of the above. 

 

3. The Balance Sheet adjustments for this M&A deal are shown below: 
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Which of these adjustments seems incorrect (or, if these adjustments seem fine, which 

other adjustments are missing)? 

a. The Seller’s Deferred Rent should not be written down because it represents a 

simple timing difference between book rental income and cash rent received. 

 

b. Another Intangible Asset, “Below-Market Lease Intangibles” should be created on 

the L&E side. 

 

c. The Debt and Preferred Stock numbers seem wrong because they are both 

refinanced and replaced with new balances that are different from the old ones. 

 

d. There is no mark-to-market adjustment on the Seller’s Debt. 
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e. The Seller’s Equity Investments should be marked to market and then separated into 

their Asset and Liability components. 

 

f. The Acquired In-Place Lease Value line item is very high, and it’s unclear how a 

company with Forward Rental Income of ~$360 million could produce such a value. 

 

g. All of the above. 

 

h. None of the above. 

 

4. The Combined Company’s Income Statement down to Operating Income, with transaction 

adjustments and modifications in light blue, is shown below (4Q 17 is immediately after 

deal close): 

 

 What seems unusual or incorrect about these projections? 

a. The Cost Synergies should not start fully phased in immediately after deal close. 
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b. The Amortization of Above- and Below-Market Leases are in the wrong places – all 

Amortization should be under Operating Expenses. 

 

c. The Restructuring and Merger Integration Costs should be incurred primarily in Year 

1 following deal close, or at least earlier than they are in this model. 

 

d. The absolute value of the Restructuring and Merger Integration Costs should not 

exceed the absolute value of the Cost Synergies. 

 

e. All of the above. 

 

f. Only statements C and D are correct. 

 

g. Only statements A and C are correct. 

 

h. Only statements A, B, and C are correct. 

 

5. You have also set up a Relative Contribution Analysis for this deal that measures the 

percentage of metrics such as NOI, EBITDA, FFO, and AFFO that each company contributes 

and then determines the Implied Exchange Ratio and Offer Price based on that: 
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In this analysis, you’ve calculated the Combined Pro-Forma Enterprise Values by dividing 

the Buyer’s Enterprise Value by the Buyer’s % Contribution (for Enterprise Value-based 

metrics), and you’ve done something similar for the Combined Pro-Forma Equity Values 

for Equity Value-based metrics. 

The graphical results of this exercise are below: 

 

You believe that this graph shows that the Buyer should pay slightly more for the Seller 

because it is an objective analysis based on near-term percentage contributions, not far-

in-the-future forecasts. 

Your co-worker objects and claims that while the analysis appears to be objective, it does 

have some flaws. Is he/she correct? 

a. Yes – basing the Combined Pro-Forma Enterprise Value or Equity Value on the 

Buyer’s vs. Seller’s standalone figures and contribution percentages changes the 

results since these companies almost certainly trade at different multiples. 

 

b. No – this is the closest to an objective analysis there is. However, it would be better 

to use historical figures rather than projected ones for NOI, EBITDA, FFO, and AFFO. 

 

c. Yes – by ignoring synergies and other acquisition effects and not attributing them to 

one company, we change the results of the analysis. 
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d. Yes – this analysis is less meaningful for *non* 100% Stock deals because Cash or 

Debt financing means less ownership for the Seller regardless of the contribution 

percentages. 

 

e. Only statements A and C are correct. 

 

f. Only statements A and D are correct. 

 

g. Only statements C and D are correct. 

 

h. Only statements A, C, and D are correct. 

 

6. You have also built a Value Creation Analysis for this deal, which combines the financials 

of the Buyer and Seller and then applies the trading multiples of a larger company in the 

same market (Equinix, in this case). 

Then, you back into the Implied Share Price of the Combined Company and determine 

whether it’s higher or lower than the Buyer’s standalone Share Price. 

As a combined entity, Digital Realty and DuPont Fabros have higher EBITDA, FFO, and 

AFFO Growth than Equinix. Additionally, they have higher numerical FFO and AFFO figures 

(their combined EBITDA still trails that of Equinix). 

The sensitivities are shown below, with 12.2x as the standalone P / FFO multiple of the 

Seller, 16.1x close to the standalone P / FFO multiple of the Buyer, and 25.2x close to 

Equinix’s P / FFO multiple: 
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Which of the following conclusions might you draw, based on the description above and 

these tables? 

a. If the Combined Company does not trade at higher multiples than the Buyer or 

Seller as standalone entities, then this deal will almost certainly destroy value. 

 

b. This deal would be far more likely to create value if the Buyer could negotiate a 

moderately lower purchase price for the Seller. 

 

c. Given the Combined Company’s financial profile, it seems absurd that it could trade 

at multiples close to those of Equinix. 

 

d. This deal is highly dependent on the realization of significant annual cost synergies. 

 

e. All of the above. 

 

f. None of the above. 
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